NSN 2540-00-039-8375 AeroBase
Kit - Page 1 of 1 e Group

View Online at https://aerobasegroup.com/nsn/2540-00-039-8375

General Description:

Consist of the following items, 4 hex head bolts 5/16-24nf-3x3/4 181595, 1 hex head bolt 5/16-18-nc-3x1122017, 3 hex head bolt
5/16-24-nf-3x1 121661, 2 bolt and spring lockwasher assembly5/16-18x7/8 673488-d, 1 bracket 800756, 1clamp 800388, 6 clamps 800765,
1 clamp 2-9/32 635097-d, 1 clamp800785, 1 gasket a-7967-d, 1 hose 802041-c, 2 hex head nuts 5/16-24nf-2 120368, 5 hex head nuts
5/16-24 801678-d, 3 wing nuts 1/4-20nc-2 126177, 1 wing nut 5/16-18nc-2 142745, 1 tail pipe 649863-b, 1ring 648452-d, 3 round head
machine screws1/4-20nc-2x1-1/2 133056, 3 spacers 17380-d, 1 support 800387, 3 lock washers 1/4 120423, 3 lock washers 5/16 120214, 2
plain washers 5/16 446363, 3 plain washers 5/16 120393, 1 instruction sheet

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No


https://aerobasegroup.com

